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However, according to 12112, what was done inadvertently

OVERVIEW

121N stated previously that there is a A w2 nXvn 211 even if there was
awareness that he is transgressing at the time of this 723w. The X713 ponders
if there was awareness, in which way was it a maw?!" mooin discusses and
rejects alternate ways of explaining what the 723w consists of.

mMdoIN responds to the anticipated difficulties:
— 312992 P INT2 NYY 91519 581 NY

The X 13 could not have answered that he was unaware that there is a
prohibition (which carries with it a mp9» 2vn), but was aware that for this

7773y there is a 3279 21°1.* This answer is inappropriate -
— 5NY NN AW NYT 13993 T2 3NY NIAD PNT

For it is not logical to obligate him to bring a 3292, since he is not
consciously retracting from his sinful action.

mooIn rejects an additional solution:
— 1397 IND2 DY 9129120 9133 NI

" The x replies that he was a 22w regarding the 127p; he was unaware that there is a 727 2117 for this
transgression. This classifies him as a 22 and he is required to bring a nXvr (even though he was aware the
entire time that this 7wyn is forbidden and carries with it a n73 21°1).

* The suggestions MmooIn will be making are attempting to minimize the novelty of 1211, that there is a 21
1279p even if he is a 7. Instead of ruling that there is a 1299 271 even if he was aware of all aspects of the
77°2y; he was just unaware that there is a 1279 21 (which is a great w17°m), perhaps 1217 meant that if there
is (only) a minimal awareness, then there is a j27p 21°17, but not if there is a maximum awareness. 190N
negates this suggestion.

? See 0"an (and X"ow) who interprets this to mean that he was only W22 2w (he may have assumed that
there is only a nwy mxn [to rest on naw, for instance] see *» W naw); however he knew about N3 (and
1299). This explains why mooin did not use the same answer he gives shortly (on 12721 1822 2w) that 199
1219 12 w° 21 127 992 7. See (however) “Thinking it over’ # 3. The R"5w maintains that if it would be
n122 AW as well, then it would be considered 1ny>71 2w (even if he was 12792 7°17).

* Mmoo (presumably) maintains that it is more logical to consider him a 33w if he is unaware that there is a
X7 (even though he is aware that there is a [n731] 129 21°7) than to consider him a 3w if he is aware that
there is a N721 %7 and he is just not aware of the 127p 21n.

% )nyn 2w means that had he known the (severity of the) prohibition he would not have transgressed it.
Now that he is aware he brings a 7277 to atone. However if was aware that there is a 127 2117 for
transgressing this 77°2y and nevertheless it did not prevent him; he is in the same rebellious state and it
would be most unfitting for him to bring a 1277 for an atonement. However if he was unaware that there is a
127p 2r1 for this transgression, we may argue that had he known he would not have transgressed, and now
that he is aware he may bring the 1217 as an atonement. See later in this 150N, See PR*X NI,
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And we also cannot say that he was unaware of the ®sx» and the 329p, but
was aware of the (n72) ~ox;” however if he would be aware of the XY (and/or the 127p)
he would not be considered a AW —

mooIN rejects this as well:
— 192D YIPNT 19T NN NHY2DT

For it is logical, that since we are comparing 32 to 75, this means that -
— 129515 139 W 12992 9307 1NN 9273 P9 INYI 937 593 i 1PN

Even if he is a 7>t in all aspects (he is aware of the W% and the n12), and
was a A only in one aspect, namely that there is a 3299 21’17, nevertheless,
we obligate him to bring a 127p.”

mooIn qualifies his previous X720 that he is 2°17 even if he is aware of all aspects (except
the 7279 211):

— nY00a D) MY RNOY 13593 NPD XIINT NI 1151)
However in a sin where there is a 79°po 211, it is necessary that he be

unaware (besides of the 127 21°17, but) also of the %22 21°11. Mmoo explains -
— 139721307 PPN NYYPDA 1O NN INT

For if he was a 7t also regarding 17°p%, we cannot obligate him to
bring a 121p -

— Ay 750 YV 1299 0) 29NY ¥19 150 I199ARY NVIW 1 19r00m AW 19NT 11994
For since he is not holding back on account of the 7%°p2 (he knows there
is a 7°po 211 and nevertheless he transgresses), it is obvious that even if he

would know that he is also liable for a 3399, that he would not stop from

transgressing, therefore -
— NN INYTIN AW XD

% See 1"mn that even the 0*»an maintain (according to *") that it is the N1 that requires 733w; not the 3.

7 This case is (presumably) more fitting to be called 33w, than if he was only 1279p2 2w (and %2 717
no21). Why is it necessary to assume that 7217 maintains even where 12722 2@ he is also 217 a 12727

8 moon agrees that in the aforementioned case of 727721 W72 2w he will be 27m» a 1277 Nevertheless it
cannot preclude that even by 12772 23w alone, 12171 also maintains that he is 217 a nXvn.

? The *"n writes here as follows: n732 MY W wpnT 1% T 1327 1107 2"'RT D122 BT 717 R ORTY KT
W RY 3272 190K XD NAAWT T AWYn nvwa aveT °h DR n1onT kb 12 neX. For we certainly cannot say
that he was n122 2w , for if so 1a1m will be agreeing to the 1127 (that N2 nww is sufficient [according to
*"9]) and furthermore since the wp>n of MW to 7 is regarding n7> (the P1wd of woim [which is 7°11]
concludes 1n1oM), it is appropriate to assume that he has knowledge of n7> during his act, and we also
cannot say that he was W72 2w, because [12791] W2 naw is not sufficient even according to the 1121 (see
1"mn for an improved reading of the *"n).

' See “Thinking it over’ # 1.

' See “Thinking it over # 2.
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He is not considered a yny 7om aw.

Mmoo anticipates a difficulty:
— 12979 NPT aY N 2PWN NI 1TNAT 2 DY 9N

And even though that if was aware of the n92 21’17 he is considered a 2w

MY regarding a 3292 (if he was unaware that there is a 1279 211). Why do we
say by n12°po that he cannot be aware of the 77°p0 2vn, for then he is not a My 711 2W;
however regarding n73, even if he was a n122 7 he is still considered a nNy>7n 2W?
What is the difference between 712°p0 and n13?

mooin replies:
— NAIYNI TYON R 1299 NIIYNA TWON NHIIT DIV 139N

This is because by n9> it is possible to avoid the n7> punishment by
repenting (therefore this not so great an impediment to his transgressing,
since he feels he will avoid the n73); however regarding 3299 it is not

possible to avoid bringing the 277 by repenting. Therefore we can argue that
had he known that there is a j27 2117 he would not have sinned. This is considered 2w
Ny 71, Similarly by 7%°p0 there is also no way that repentance can save him from 2vn
772°p0.

mooIn offers an alternate solution:

1AV 791 12990 OY N3 ANY Y1 NN ON 919919 99V TV NI 2T MY
And furthermore regarding n=> it is properly acceptable to argue that
had he known that he would be liable for n9> in addition to the 3297, he
would have reconsidered."

SUMMARY

The wp>i1 of 7m2 s teaches us (according to 1a1n) that if he is a AW in
only one aspect of the sin (such as the 12797 2117), he is 2’17 a nXvrR. One who
1S 1272 7177 cannot bring a 127p [even if he was 2% in (all) other aspects].

2 See o'y X9 that by 72°p0 since he is aware that he will be put to death immediately, and nevertheless
he transgressed the 7172y, it is not logical to assume that if he had known that there was a 127 2117 as well,
he would have held back and not sinned. Therefore he cannot be considered a 1ny>7» 2w. However by n13,
where he will not die immediately but rather after the age sixty, that is not such a strong deterrent that
would make him refrain from transgressing, but if he would know that in addition there will be an
immediate 127p 211, that may restrain him, and therefore he is considered a ny>71n 2w. See X"oWw that by
72°po if he would be 719°p0 21, he would not be 211 a 127p, so we cannot say that had he known, etc. since
there can be no 2P 211 if there is an 72°p0 oK. See ‘Thinking it over” # 4.

B See x"ow (footnote # 3).
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There is no 1272 21’11 if he was 70 2 717 (as opposed to N722 7°17).

THINKING IT OVER

1. mooIn states that if there is a 77°P0 2n in this sin, it is necessary (even
according to 1217) that he be a 2\ also in the 77°P0 21°1 besides a 2\ in the
127 2rn. Seemingly why is not a 3\ in 72°p0 alone (even if he is a 7°m for
the rest) sufficient to obligate him in a j27p2 (just as 77 ' maintains that
N5 N 1s sufficient (even according to the 133‘1)?15

2. MdoIN states that regarding n12°P0 he must be a AW; otherwise since he is
not 2¥ even though there is a 7%°P0 21’1 then he certainly will not be 2w
because of a 127p 211.'° Why cannot we say that even though he was 717
772°703, nevertheless he was sure that he will not be killed since there was no
X707, however if he would have known that there is a j27p 2117, which he
must bring regardless, then he would have been 2w?!"”

3. The 0"777 states that when Mo01n said 32722 717 it meant 1122 7°17 as well
and proves it from the fact that m»01n did not give the answer here as he
gave it for the second case of 122 W22 2w, w"w."® Seemingly however
this is no proof. The second answer of NvoN tells us that we may maintain
that 12721 1872 AW is 2°°1, but it does not preclude that 1272 2w 122 17 is
also 2»n."” If mpoIn would have given that answer here regarding 822 3w
12972 71, then we would have mistakenly assumed that 32722 75171 1892 2w
1s 211 (but it does not preclude that 1272 23w N722 7°17 is also 2°°717). NBOIN
disabuses us from this mistake and teaches that 727p2 7°T7) RD2 MW is 0D
since he is not MNY>7°n 2W!

4. According to 1217 if one 1s N722 717 and 32772 AW 1s he 217 a 129p and
n5? What is if he was 12992 33w 79°002 717 is he 21 a 127922

14 See footnote # 10.

15 See v K91 and 2 NIX HRIN DA,

16 See footnote # 11.

17 See 0"nn (on the 12792 23ww 7"7 'm3) and (similarly) X"y9 ™.
18 See footnote # 3.

19 See footnote # 8.

2 See X"ow (and 7R N).
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